® -x+y




o, x> o] A4}

e

sfefet.

.Z?_

—1) —4x(x-3) = (7Tx® —x+1) 2 7FH3]
o] &

3x(x
A%

2.

.

ul

—8x2 +10x—1

L =84 (-1)=-9

)




(-8x+4y)+ (-2) =ax+by @ W, a+b 2 27

(=8x + 4y) + (-2)

_ 8x+4y
=2

=4x -2y =ax+ by
a=4, b=-2

La+b=2




—_
o

To
N

el
I
ol

a) = (~2ap)

1

b=
o=y

3
Qb e
a —|—4

2

3

(

as?) = (~2ab)

1

e =
oy

2., 3
(‘5“’*1

)
3ab

3 1
ab + Zab = Ealﬂ) X (—

2
3




4
5. (12x3y% + 4xy) + 30 £ tets] shH?

D)9x?
O y+3 @ 9x2y + 3xy ® 9x3y? + 3xy

2
@ 12x%y 44 ® 12x%y + 4xy

12:3y? = 5
(12x3y? + 4xy) = 3xy—12x3y2><4——|-4xy><i
Xy 4xy

=9x%y +3




6. (6a’b—4ab?) + (—g) = 7S] oFH?
® 3a? - 2ab® @ 12b% — 8a? @—12a2 + 8ab
@ —-34a2+ 2 ® a?b? - ab

- () = oo ()

= —12a” + 8ab




7. 2x(x-1)-3x(2x-3) — (=7x* + x - 2) E ZtH35| 5tH?

@3x2+6x+2 @ 3x2-6x+2 ® 3x%+6x-2

@ -3x®>+6x+2 ® 3x2-6x-2

2x(x—1) = 3x(2x - 3) = (=7x* + x - 2)
=2x2 - 2x—6x> +9x+ T2 —x+2
=3x%2+6x+2




5 w2 ay) ~5x(x—y) B 0 o2

@—W — Xy @ -2x* —1lxy ® 8x% 4 1lxy

@ 8x% —xy ® x2+axy

3
§x(2x —4y) = 5x(x —y) = 3x2 — 6xy — 5x% + 5xy = —2x% — xy




9. a=1, b=3 <% ", 2(5a - 3b) - 4a(3a - 2b) 2| F2?

(ON @1 ® 2 @ 3 ®)4

2a(5a—3b)—4a(3a—2b) = 10a*—6ab—12a*+8ab = —2a*+2ab
—2a® +2ab=-2+6=4




FH?

ol

10. (155 + 9xy) + 3x + (25y% - bxy) = 5y 5 7FH5]

@4x+8y @ 8x+4y @ 10x + 2y

@ 10x+ 8y ® 14y

(15x2 + 9xy) + 3x + (25y* — Bxy) = by
=bx+3y+oy—x
=4x+ 8y




11. o5 ALt & &2 82 A2?

® —(2a-b)=-2a+b

@ —2y(x + 3y) = —6y% — 2xy

® 2y(5y - 3) = 10y - 6y
@—2x(3x —4y) + y(x + 5y) = —6x2 + 10xy + 5y°

® —2x(4x—3y) —y(x—3y+1) = —-8x% + 5xy + 3y? —y

@ —2x(3x — 4y) + y(x + 5y) = —6x2 + 9xy + 5y?




@
@)
® 2x(3x—6) = 6x% - 6x

@)3x(2x = 3y) — 2y(x +y) = 6x% — 11xy — 2y?

@—x(x—y+2) +3y(2x+y+4) = —x2 + Txy - 2x + 3y + 12y

® —(a-5b) = —a+5b
® 2x(3x - 6) = 6x% — 12x




13.

g(12x+24)—%(36—12x) — Ax +Bx 2t g o, A -B 9] ghe?

@ 1 @2 ® 3

@ 4

® 5

~&B

(F£4]) = 2x% + 4x - (3x — x?)
= Sy e o= B A B

A=3, B=1
LA-B=2




X

3(6—3x)—g(6x—8)—3x:Ax2+BxE}%EHLH, 2A + 3B 9] e
stefe.

14.

> =

> ®™eH: 1

(F4) = 2x — x% — (3x? — 4x) - 3x
= —4x% + 3x = Ax*> + Bx

A=-4 B=3
Z2A+3B=2x(-4)+3x3=1




15.

(6x2y* — 4xy® + 3x%y — 5xy) + xy 5 1t
Fetofar,

> E.

> EE: 0

~&B

ol
filo

(6x°y* — 4xy® + 3x%y — 5xy) + xy

6x2v2 —4xy2  3x2 -5
_ xyy+ xyy+xyy+ x;y
=6xy—-4y+3x-5
xy o A%

y o A%t -
x O A5 3
A% s

L 6-44+3-5=0




16. (15ab - 5a) + 5a + 4b* =+ <—§b> £ Al4tstof et
B

[ 2
> ®™EH: _3p-1

(15ab — 5a)+5a + 4b* + <—§b)

=3h-1-6b=-3b-1




17. 2o 7kz o] Aol7t 2a Q1 AAMZTE 9] Wol7t 4a® - 2a°h & W,
Az o] dol=?

4a*-2a*b
Tt~-9g----"7
® a®-a @ 242 +a ® 2a°-b
®)2a? - ab ® 2d% + ab

2a x (M=22] 4o]) = 4a® - 2a%b

3 _ o 2
. (ARe] o)) = da® —2a%b
2a
_ 4a® R —2a°b
" 2 2a
= 2a® —ab




18. taF &2 20

flo

@® 6x3 + (-2x)2 = -12x°

@—4)65 +2x3 = —2x2

® 8a*h? +2(ab)? = 24°
1 1 1
2 = Dy
@ (x*+x)= 5% = 5T 5

® (4x% —y?) + (=2y) = —8x%y + 2y°

~&B

@ 6x° + (—2x)% = 62 + 4x? = ;x

@ —4x® = 2x3 = —2x573 = —92x2
® 8a'b? + 2(ab)? = 8a*h? + 2a%h? = 4a?




2 =
19. T A Sx(5-20) & 2] SR
4 10 4 5 2 5
@ ;ng —ng @ ;ng —|—1§x —x? - gx
@ §x2 + gx ® §x2 + gx
2 2 1 4
§x><5+ 3*X (=2x) = on— §x2




20. a=-2, b=-> A, & 49l g2 Tofolt

4a(a - 2b) — a(2a - 3b)

(F4]) = 4a® - 8ab — 24> + 3ab = 24> - 5
5 2a% —bab=8-4=4




21, (3¢~ 9xy) + 3x = (6xy = 8%) + (~2y) & AFskR?

@ax-7y @ 47y ® 207y
@ 2x+ Ty ® 2x—y

~&B

(3x% = 9xy) =+ 3x — (6xy — 8y?) + (-2y)

=x-3y+3x—4y=4x-"Ty




22,

—(=15ab - 9ac) + (-3a) & 7rH3]

® -5a-3c

@)-5b -3¢

® -45a%b + 27a%c

a2

@ 5b+ 3¢
@ -5b+ 3¢

(15ab + 9ac) + (-3a)
= 15ab + (~3a) + 9ac + (~3a)
= -5b -3¢




3 o
23. (-6x%y+12xy - 18)y?) + 7 £ 7Fh33] sHH?

27

© —9x%y? + 9xy% = Ty @ -8x%2 + 16xy° — 24
3 27

® _5)‘2 +9x — 57 @—8x2+16x—24y

3 27
® —§)c2y2 + 9xy — ?y2

B

3
(—6x%y + 12xy — 18)?) + ol
2 2 4
= (=6x%y + 12xy — 18y%) x —
3y
4 4 4
= (—=6x%y) X — 4+ 12xy X — — 18y® x —
(—6x7y) 3y+ Xy 3y Y 3
= —8x% + 16x — 24y




® 9x + 6y @ 9x + 6y?
@—9)6 + 6y @ —9x3y? + 6x2y?




ol

25. (15x2 + 9xy)=3x + (25y% — bxy)+5y & 75| 5HH?

@4x+8y @ 8x+4y ® 10x+ 2y

@ 10x+ 8y ® 14y

(15x2 +9xy) + 3x+ (25y% —5xy) + 5y = 5x+3y+5y—x = 4x+8y




